
 

Exercise 1 Wilsonian EFT

Action is dimensionless From kinetic terms

one reads off
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carrying out the integrals in the

exercise we get
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3 we compute T see 13.6 in script

let us first discuss how to obtain it

The two point function is given by
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Truncated Green's function
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To compute the diagram we need the
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The full two point function is
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Note that the loop does not change the

coefficient of the p term A contribution

16 p would change the horn of the

field To then have canonical normalization

of the kinetic term one would rewormalize

the field



For the quadratic action in section 2.2.1

we have rescaled
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to get

back on action with the originalcutoff We

can do the same here which would again

lead to m see 12.35


